


Ranir Gl Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Column ID A B C D 
Column Label PI Total P PI Total T PI 5/18 Base PI 6/15 Pl 
Mean 2.2485 1.4845 2.18333333 2.22090909 
Sample Size 20 20 21 11 
SD 0.2481 0.3242 0.2356 0.3195 
SEM 0.05547 0.07249 0.05141 0.09632 
Median 2.260 1.395 2.170 2.250 
Lower 95% CI 2.132 1.333 2.076 2.006 
Upper 95% CI 2.365 1.636 2.291 2.436 
Minimum 1.410 1.230 1.750 1.410 
Maximum 2.620 2.740 2.850 2.620 

Column ID E F G H 
column Label PI 6/15 Tl Px 6/15 Pl Px 6/15 Tl Sm 6/15 Pl 
Mean 1.34888889 2.35363636 1.44444444 1.95272727 
Sample Size 9 11 9 11 
SD 0 : 09144 0.3303 0.1174 0.3513 
SEM 0.03048 0.09959 0.03913 0.1059 
Median 1.330 2.410 1.420 1.910 
Lower 95% CI 1.279 2.132 1.354 1.717 
Upper 95% CI 1.419 2.576 1.535 2.189 
Minimum 1.230 1.460 1.270 1.310 
Maximum 1.520 2.680 1.610 2.530 

Column ID I J K 
Column Label Sm 6/15 Tl Ps 6/15 Pl Ps 6/15 Tl 
Mean 1.16222222 2.38090909 1.42 
Sample Size 9 11 9 
SD 0.07546 0.3285 0.1043 
SEM 0.02515 0.09905 0103476 
Median 1.150 2.410 1.390 
Lower 95% CI 1.104 2.160 1.340 
Upper 95% CI 1.220 2.602 1.500 
Minimum 1.080 1.600 1.280 
Maximum 1.330 2.830 1.600 

Column ID M N 0 P 
Column Label Px 7/13 Mint Sm 7/13 Mint Ps 7/13 Mint PI 8/10 P2 
Mean 2.353 2.143 2.3975 2.28222222 
Sample Size 20 20 20 9 
SD 0.1823 0.2161 0.2202 0.1275 
SEM 0.04076 0.04833 0.04925 0.04248 
Median 2.385 2.150 2.395 2.260 
Lower 95% CI 2.268 2.042 2.294 2.184 
Upper 95% CI 2.438 2.244 2.501 2.380 
Minimum 1.840 1.640 1.940 2.070 
Maximum 2.710 2.590 2.800 2.460 

PI 7/13 Mint 
2.282 
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2.670 



Column ID Q R S T 
Column Label PI 8/10 T2 Px 8/10 P2 Px 8/10 T2 Sm 8/10 P2 
Mean 219.90909091 2.40111111 1.68272727 2.05 
Sample Size 11 9 11 9 
SD 67.116 0.1168 0.3958 0.1807 
SEM 20.236 0.03892 0.1193 0.06023 
Median 213.00 2.430 1.550 2.020 
Lower 95% CI 174.82 2.311 1.417 1.911 
Upper 95% CI 265.00 2.491 1.949 2.189 
Minimum 147.00 2.200 1.350 1.820 
Maximum 395.00 2.550 2.790 2.340 

Column ID U V W 
Column Label Sm 8/10 T2 Ps 8/10 P2 Ps 8/10 T2 
Mean 1.42090909 2.39555556 1.71272727 
Sample Size 11 9 11 
SD 0.4364 0.1328 0.4105 
SEM 0.1316 0.04426 0.1238 
Median 1.330 2.380 1.610 
Lower 95% CI 1.128 2.293 1.437 
Upper 95% CI 1.714 2.498 1.988 
Minimum 1.030 2.190 1.400 
Maximum 2.650 2.590 2.890 

Column ID A B C D 
Column Label Px Total P Px Total T Sm Total P Sm Total T 
Mean 2.375 1.51157895 1.9965 1.581 
Sample Size 20 19 20 20 
SD 0.2525 0.1500 0.2849 0.3400 
SEM 0.05646 0.03441 0.06370 0.07602 
Median 2.415 1.510 1.990 1.510 
Lower 95% CI 2.257 1.439 1.863 1.422 
Upper 95% CI 2.493 1.584 2.130 1.740 
Minimum 1.460 1.270 1.310 1.280 
Maximum 2.680 1.850 2.530 2.890 

Column ID E F 
Column Label Ps Total P Ps Total T 
Mean 2.3875 1.581 
Sample Size 20 20 
SD 0.2535 0.3400 
SEM 0.05669 0.07602 
Median 2.395 1.510 
Lower 95% CI 2.269 1.422 
Upper 95% CI 2.506 1.740 
Minimum 1.600 1.280 
Maximum 2.830 2.890 



Ranir Gl Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unpaired t test 
Are the means of PI Total P and PI Total T equal? 

Mean difference = -0.7640 (Mean of PI Total T minus mean of PI Total P) 
The 95% confidence interval of the difference: -0.9488 to -0.5792 

t = 8.370 with 38 degrees of freedom. 
The two-tailed P value is c 0.0001, considered extremely significant. 

Test: Are the standard deviations equal? 
The t test assumes that the columns come from populations with equal SDS. 
The following calculations test that assumption. 

F= 1.708 
The P value is 0.1261. 
This test suggests that the difference between the two SDS is 
not significant., 

Summary of Data 

Parameter: PI Total P PI Total T 
Mean: 2.248 1,485 

# of points: 20 20 
Std deviation: 0.2481 0.3242 

Std error: 0.05547 0.07249 
Minimum: 1.410 1.230 
Maximum: 2.620 2.740 

Median: 2.260 1.395 
Lower 95% CI: 2.132 1.333 
Upper 95% CI: 2.365 1.636 

* * * 



Ranir Gl Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unoaired t test 
Are the means of PI Total T&and PI 7/13 Mint equal? 

Mean difference = 0.7975 (Mean of PI 7/13 Mint minus mean of PI Total T) 
The 95% confidence interval of the difference: 0.6267 to 0.9683 

Welch's approximate t = 9.533 with 30 degrees of freedom. 
The two-tailed P value is c 0.0001, considered extremely significant. 
This test does not assume equal variances. 

Summary of Data 

Parameter: PI Total T PI 7/13 Mint 
Mean: 1.485 2.282 

# of points: 20 20 
Std deviation: 0.3242 0.1867 

Std error: 0.07249 0.04175 
Minimum: 1.230 1.770 
Maximum: 2.740 2.670 

Median: 1.395 2.260 
Lower 95% CI: 1.333 2.195 
Upper 95% CI: 1.636 2.369 

* * * 



Ranir Gl Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unpaired t test 
Are the means of PI Total P and PI 7/13 Mint equal? 

Mean difference = 0.03350 (Mean of PI 7/13 Mint minus mean of PI Total P) 
The 95% confidence interval of the difference: -0.1070 to 0.1740 

t = 0.4825 with 38 degrees of freedom. 
The two-tailed P value is 0.6322, considered not significant. 

Test: Are the standard deviations equal? 
The t test assumes that the columns come from populations with equal SDS. 
The following calculations test that assumption. 

F = 1.765 
The P value is 0.1125. 
This test suggests that the difference between the two SDS is 
not significant. 

Summary of Data 

Parameter: PI Total P PI 7/13 Mint 
Mean: 2.248 2.282 

# of points: 20 20 
Std deviation: 0.2481 0.1867 

Std error: 0.05547 0.04175 
Minimum: 1.410 1.770 
Maximum: 2.620 2.670 

Median: 2.260 2.260 
Lower 95% CI: 2.132 2.195 
Upper 95% CI: 2.365 2.369 

* * * 



Ranir G2 Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unpaired t test 
Are the means of Px Total P and Px Total T equal? 

Mean difference = -0.8634 (Mean of Px Total T minus mean of Px Total P) 
The 95% confidence interval of the difference: -0.9983 to -0.7286 

Welch's approximate t = 13.058 with 31 degrees of freedom. 
The two-tailed P value is c 0.0001, considered extremely significant. 
This test does not assume equal variances. 

Summary of Data 

Parameter: Px Total P Px Total T 
Mean: 2.375 1.512 

'# of points: 20 19 
Std deviation: 0.2525 0.1500 

Std error: 0.05646 0.03441 
Minimum: 1.460 1.270 
Maximum: 2.680 1.850 

Median: 2.415 1.510 
Lower 95% CI: 2.257 1.439 
Upper 95% CI: 2.493 1.584 

* * * 



Ranir G2 Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unpaired t test 
Are the means of Sm Total P-and Sm Total T equal? 

Mean difference = -0.4155 (Mean of Sm Total T minus mean of Sm Total P) 
The 95% confidence interval of the difference: -0.6166 to -0.2144 

Welch's approximate t = 4.189 with 36 degrees of freedom. 
The two-tailed P value is 0.0002, considered extremely significant. 
This test does not assume equal variances. 

Summary of Data 

Parameter: Sm Total P Sm Total T 
Mean: 1.996 1.581 

# of points: 20 20 
Std deviation: 0.2849 0.3400 

Std error: 0.06370 0.07602 
Minimum: 1.310 1.280 
Maximum: 2.530 2.890 

Median: 1.990 1.510 
Lower 95% CI: 1.863 1.422 
Upper 95% CI: 2.130 1.740 

* * * 



. Ranir G2 Dental Gum Crossover (Placebo vs MD) w/ Mint Control 

Unpaired t test 
Are the means of Ps Total P and Ps Total T equal? 

Mean difference = -0.8065 (Mean of Ps Total T minus mean of Ps Total P) 
The 95% confidence interval of the difference: -0.9990 to -0.6140 

Welch's approximate t = 8.505 with 35 degrees of freedom. 
The two-tailed P value is c 0.0001, considered extremely significant. 
This test does not assume equal variances. 

Parameter: Ps Total P Ps Total T 
Mean: 2.387 1.581 

# of points: 20 20 
Std deviation: 0.2535 0.3400 

Std error: 0.05669 0.07602 
Minimum: 1.600 1.280 
Maximum: 2.830 2.890 

Median: 2.395 1.510 
Lower 95% CI: 2.269 1.422 
Upper 95% CI: 2.506 1.740 

Summary of Data 

* * * 


